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Adz25EHaY) 18,000,000
AFASSH 6,700,000 6,300,000+4,000,000 x 10%
I AS oM 11,300,000
I ZH| 3,000,000 2Y (=2l X HiRXh
HMEE 8,300,000
SHAM & 6%
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HEMASH 70,000
BRI M U S A 20,000 SEIA0M MIA SH
AEN A (S 2SAM) 408,000
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= 2014 2015 2016 2017 2018 2019 2020 2021 2022 2023
Ak 204 211 218 227 236 244 254 268 286 299
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2015 2016 2017 2018 2019 2020 2021 2022 2023 2024
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(2023'F) ZOj| 7tX| 2 2HtE 40| B Y
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Az 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020 | 2021 | 2022 | 2023
JIEASEAH | 100 100 | 100 | 100 | 100 | 100 | 100 | 100 | 100 | 100
ME7tE 1462 | 1420 | 1373 | 1317 | 1268 | 1.226 | 1.177 | 1.115 | 1.045 | 1.000
'23 A3 JkX| | 1462 | 142.0 | 137.3 | 131.7 | 1268 | 122.6 | 117.7 | 111.5 | 1045 | 100.0
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AU (AW = 7| 2HIH x (FILHE+20) = 6,884,325 x (10+20)
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o L HOZ (M) = 3,442,162 + 12 = 282t 6,840 (10 O|2F A}



